
1 \ (A).doc(11)

111

A

1. y x y
5

9
x 32

2.(x y)3 x3 3x2y 3xy2 y3

3. P(x0 , y0) L ax by c 0
22

00

ba

|cbyax|

4. ax2 bx c 0
a

b

a

c

1. x |x 1| 4

(A)5 (B)6 (C)7 (D)8

2.
î
í
ì

3yx3

2yx

(A) (B) (C) (D)

3. a
2

1
a2 2 a 2

(A)2 (B)
4

9
(C)

4

17
(D)

4

25

4. a log5 b log2

(A)a b log5 log2 (B)a b
2

5

(C)a b 1 (D)a b
2log

5log

5. (
8

7
)3 3 (

8

7
)2

8

3
3

8

7
(

8

3
)2 (

8

3
)3

(A)
8

1
(B)

2

1
(C)

8

5
(D)1

6. 2

14 3.5

(A)3 (B)4 (C)5 (D)6



2

7. L 3x 4y 5 0 (1 , 1)

(A)( 1 , 1) (B)(1 , 3) (C)( 1 , 2) (D)( 2 , 1)

8.

(A) (B) (C) (D)

9. f(x) x2 6x 3 f(x) (m , n) 2m n

(A)6 (B)5 (C)4 (D)3

10. 12 12 9

(A)15 (B)16 (C)47 (D)48

11. ( ) C T

T A A

T T S 120 A

S 250 A B 450 TSA

CBA 90 C CAB TAS B

(A)216 (B)240 (C)288 (D)320

( ) ( )

12. f(x) (x 2)(x 3) (2x 3)(x 1) 2x 3 f(x) (x

1)(x 3) ax b a b

(A) 1 (B)1 (C)3 (D)5

13. y f(x)
2592

31832161296 32

144

x)312372( 2

24

x)36( 2

12

x3 3

y sin x 0.4 x 1.3 ( |f(x) sin x|

0.03) ( ) f(
6

)

(A)
3

1
(B)

2

1
(C)

2

2
(D)

2

3



3

14. 2 12 18

AZ

BNT BNT BNT

AZ

BNT AZ

(A)12 (B)81 (C)192 (D)256

15.

5 5

(A) (B) (C) (D)

16.

(A)8 (B)16 (C)36 (D)256

17.
6

1

3.5 80 5 ( )

(A)280 (B)283.5 (C)285 (D)288.5

18. 3 1

(1, 1)

(A)(x 1)2 (y 1)2 4 (B)(x 1)2 (y 1)2 5

(C)(x 1)2 (y 1)2 4 (D)(x 1)2 (y 1)2 5

19. ( ) 1

9

2 8

3 64

6

(A)
3

2
(B)(

3

2
)18 (C)(

9

8
)6 (D)(

9

4
)6

( )



4

20. ABC A(8 , 7) B(2 , 1) C(12 , 3) D AB

AD DB 1 2 ( ) D AC

(A)x y 1 0 (B)x y 1 0 (C)x y 11 0 (D)x y 11 0

( )

21.

4 3

2 5

(A)4 (B)5 (C)6 (D)9

22. 9

A

12 5 11 B

( ) A B

(A)

(B)

(C)

(D)

( )



5

23. 7 12 1

3 9

(A)
20

3
(B)

3

1
(C)

3

2
(D)

5

4

24. x2 x 1 0

( 1) ( 1)

(A)x2 x 1 0 (B)x2 x 1 0 (C)x2 x 1 0 (D)x2 x 1 0

25. x y x y 1 3x y 3 f(x , y) 2x y

(A)1 (B)2 (C)
2

5
(D)3

(A)

1.(C) 2.(D) 3.(D) 4.(C) 5.(A) 6.(B) 7.(D) 8.(A) 9.(A) 10.(B)

11.(A) 12.(A) 13.(B) 14.(C) 15.(D) 16.(C) 17.(C) 18.(B) 19.(C) 20.(D)

21.(B) 22.(A) 23.(A) 24.(D) 25.(B)



6

111

1.(C) 2.(D) 3.(D) 4.(C) 5.(A) 6.(B) 7.(D) 8.(A) 9.(A) 10.(B)

11.(A) 12.(A) 13.(B) 14.(C) 15.(D) 16.(C) 17.(C) 18.(B) 19.(C) 20.(D)

21.(B) 22.(A) 23.(A) 24.(D) 25.(B)

1. 4 x 1 4 Þ 3 x 5 Þ x 2 , 1 , 0 , 1 , 2 , 3 , 4 Þ 7

2.

î
í
ì

3yx3

2yx
Þ (

2

1
 , 

2

3
) 

x y 2
20y

02x
 

3x y 3
30y

01x
 

 

3. a
a

1

2

1
2

2

5
a2 2 a 2 a2 2a

a

1
(

a

1
)2 (a

a

1
)2 (

2

5
)2

4

25

4. a log5 b log2 a b log5 log2 log10 1

5. (a b)3 a3 3a2b 3ab2 b3 Þ a
8

7
b

8

3

Þ (
8

7

8

3
)3 (

8

4
)3

8

1

6. a1 14 d 3.5 an a1 (n 1)d Þ 0.5 Þ an 7 0.5 3.5

3.5 14 (n 1)( 3.5) Þ 10.5 (n 1)( 3.5) Þ n 1 3 Þ n 4

Þ 4

7. (1 , 1) L 3x 4y 5 0 Þ 3 1 4 1 5 0 D( 2 , 1) L

Þ 3( 2) 4 1 5 0

(1 , 1) ( 2 , 1) L ( A B C L 0 (1 , 1) )

8.

9. f(x) x2 6x 3 (x2 2 x 3 32) 3 32 (x 3)2 12

Þ ( 3 , 12) (m , n) Þ 2m n 6

10. y1
5

9
x 32 y2

5

9
(x 9) 32 y2 y1

5

9
9 16.2 16



7

11.
t
SB x A (0 , 0) T x T'

T' ( 250 , 120) T' A C C (450 , y) ( y BC )

Þ
A'T

m
AC

m Þ
)250(0

)120(0

0450

0y
Þ

250

120

450

y
Þ y 216

12. f(x) [(x 2)(x 3)][(2x 3)(x 1)] (2x 3)

f(x) [(x 1)(x 3)][(x 2)(2x 3)] (2x 3)

Þ (x 2)(2x 3) 2x 3 Þ 2x 3 ax b Þ a 2 b 3

Þ a b 1

13. 0.4
6

1.3 f(
6

) sin
6

sin30
2

1

14. 4 4 4 3

Þ 4 4 4 3 192

15. Þ

16. C 4
2 C 4

2
21

34

´

´

21

34

´

´
36

17.
6

1
[(1 80 5) (2 80 5) (3 80 5) (6 80 5)]

6

1
(1 2 3 4 5 6) 80

6

1
(6 5)

6

1
21 80 5 3.5 80 5 285

18. Þ
2

13 22 ´´
5 Þ 5 r2

Þ r 5

(1 , 1) Þ (x 1)2 (y 1)2 5

19.
9

1
Þ 1

9

1

9

8
6

(
9

8
)6



8

20. D (
12

2182 ´´
,

12

1172 ´´
) (6 , 5)

AC
m

128

37
1

Þ D AC y 5 (x 6) Þ x y 11 0

21.

3212110

1231220

1112230

5

22. AB 22 12)511( 20

ABC OBD Þ
12

20

h

11
Þ h 6.6 9

9

23. 7 12 6 Þ C 6
3

321

456

´´

´´
20

9 Þ 10 , 11 , 12 2 Þ C 3
2 3 Þ

20

3

24. x2 x 1 0 Þ 1

1 ( 1) ( 1)
22

2

2)( 2

2
1

)1(2)1( 2

2 1

( 1)( 1) 1 1
22

2 1

Þ x2 ( 1)x 1 0 Þ x2 x 1 0



9

25.

3yx3

1yx
(1 , 0) 

x y 1
10y

01x
 

3x y 3
30y

01x
 

 

Þ f(x , y) 2x y f(1 , 0) 2


